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PR NERE

TH4 | R6EREEMFMHEERIZOS THF

THXSy « TfE - FER A B & & B # a1l ) 7
1B BAEHRE = 1 19, 547, 390
EhdE T = 1 18, 596, 276
BT Z T 2V 1 18,596, 276 | &hZEhAk A (SuEiE 1)) 2, 160 m2
EHAERR O BT H (TA7 7V MEEERR t < 150m, FTHR/Et
=40cm) ;
b 1 =K
BG~ R &
+rb CE - ERREY L&) ;
HE A 1 =K
kI 1 =K
TAT7 VAR
LSy 216 m3
TA77 N (FRED
b 2,160 m2
M-40 t=20cm ;
g 2,160 m2
QO AHKRLET 277V MEA Y (20) t=5cm ;
eI 2,160 m2
O©FRLET A7 7V MEA Y (Br20FH) SEH A t=5cm
X JH R T 2V 1 87, 814
X JH R T = 1 87,814 |~ AV b iR 250 m
N AP KRR SEHR 15em NEL
Ny bX R 310 m
A A KR SERR 15em HIE ;
R T Y 1 863, 300
BB Y 1 863, 300 | XA EESH B 1 =
RiEFHEERE 1 =X
[ERCE Xy 2V 1 19, 547, 390
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e s = 1 3,951, 800
B SIS = 1 317, 800
FeAfriE By v 1 58,800 | BKEAT ~HERE 1 X
BUGRESGER (R5th) v 1 259, 000
ol # (RE L) v 1 3, 634, 000
Wi TR v 1 23, 499, 190
B E R X 1 9, 588, 000
TRl v 1 92, 953, 247
—fRE R % X 1 14, 696, 753
T fifik& v 1 107, 650, 000
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TH4 | R6EREEMFMHEERIZOS THF

THXSy « TfE - FER A B & & B # ] ) 7
1B BAEHRE = 1 17,429, 816
HELT Y 1 1,710,272
PEHI T Y 1 521, 362 | #iEH! 290 m3
L4
b 1 =K
T CEBL- ERIRY &) ;
HE A 1 K
BRE LT Y 1 1,188,910 |HEHEt 220 m3
b 1 =K
T H~ 85
T CEBL- ERIRY &) ;
TR B 1 K
SlE T 2V 1 14, 579, 008
TAT 7V MRS T Y 1 1,402, 240 | T &K GEE) 448 m2
RC-40 t=15cm ;
=& (HRIEE) 448 m2
@FAEBRETATVMESY (13) t=4cn ;
LT Z T 2V 1 13,176,768 | &fiZEhAk A (SuEiE 1)) 1, 650 m2
EHAERR O BT H (TA7 7V MEEEERR t < 150m, FTHREt
=40cm) ;
b 1 =K
BG~ R & 5
T CEBL- ERIRY &)
HE A 1 =K
kI 1 =K
TATTIVhER ;
LSy 165 m3
TA77 Nk (FRED
b R 1, 650 m2
M-40 t=20cm ;
L] 1, 650 m2
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TEHEXSy - TfE - fER Bz ¥ & & Hm i N 7
QFAMALETAIVMESY (20) t=5cm ;
eI 1, 650 m2
O©FRIEET AT 7V MES ) CHr20FH) S B4 A t=Hem
X R T = 1 72, 630
X B T = 1 72,630 |~ 4 X ERR 150 m
A AV KPERR FER 15em INEA (B E-JnbT)-
) s
A AV PR E R 300 m
A A KR SERR 15em HE
HiEYME T = 1 204, 606
g i L T Y 1 98, 010 | &H%E IR Ak A 450 m2
ATV M SER t = 15cm ;
TER LR T = 1 106, 596 | 2 iEk 1 =
TAT7 VAR
BTy 18 m3
TA77 V% (FRED
FGan Y 1 863, 300
A EE T Y 1 863, 300 | A2 M E A iF 5 1 =
RiBTFHEE A 1 2V
[EREES 2V 1 17,429, 816
Bt = 1 3, 581, 000
Il R Y 1 238, 000
BIGRIEUER (FE L) Y 1 238, 000
Il (it L) Y 1 3, 343, 000
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Wi TR v 1 21,010, 816
B E R X 1 8, 793, 000
TRl v 1 29, 803, 816
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TH4 | R6EREEMFMHEERIZOS THF

THXSy « TfE - FER A B & & B # ] ) 7
1B BAEHRE = 1 10, 996, 923
HELT Y 1 3,631,538
PEHI T Y 1 1,717,848 |#iH! 660 m3
L4
b 1 =
T CEBL- ERIRY &) ;
HE A 1 =
BRE LT Y 1 1,913,690 |HEH#Ht 510 m3
b 1 =
T H~ 85
T CEBL- ERIRY &) ;
TR B 1 =
EhdE T = 1 6,001, 301
TAT 7V MRS T Y 1 3,161, 300 | T Jm s (RiEER) 1,010 m2
RC-40 t=15cm ;
=& (HRIEE) 1,010 m2
@FAEBRETATVMESY (13) t=4cn ;
LT Z T 2V 1 2,840, 001 | &2 I AseAde (EudiiE 12) 330 m2
EHAERR O BT H (TA7 7V MEEEERR t < 150m, FTHREt
=40cm) ;
b 1 =
BG~ R & 5
T CEBL- ERIRY &)
HE A 1 =
kI 1 =
TATTIVhER ;
LSy 33 m3
TA77 Nk (FRED
b R 330 m2
M-40 t=20cm ;
L] 330 m2
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TEHEXSy - TfE - fER Bz ¥ = & Hm il N 7
QFAMALETAIVMESY (20) t=5cm ;
eI 330 m2
O©FRIEET AT 7V MES ) CHr20FH) S B4 A t=Hem
X R T 2V 1 14, 526
X H T = 1 14,526 |~ Ay Ml K i 30 m
A AV KPERR FER 15em INEA (B E-JnbT)-
) s
A AV PR E R 60 m
A A KR SERR 15em HE
HiEYME T = 1 486, 258
S EUE L T Y 1 219, 978 | El%E IR 1,010 m2
ATV M SER t = 15cm ;
TER LR T = 1 266, 280 | FRIEM 1 =
TAT7 VAR
BTy 40 m3
TA77 V% (FRED
FGan Y 1 863, 300
A EE T Y 1 863, 300 | AWK E (B 1 =
RiBTFHEE A 1 2V
[EREES 2V 1 10, 996, 923
Bt = 1 2, 486, 000
Il R Y 1 166, 000
BIGRIEUER (FE L) Y 1 166, 000
mEER®E (EE L) Y 1 2,320, 000
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Wi TR v 1 13, 482, 923
B E R X 1 6, 084, 000
TRl v 1 19, 566, 923
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THXSy « TfE - FER A B & & B # a1l ) 7
1B BAEHRE = 5,551, 318
HELT Y 2,671, 140
PEHI T Y 1,366,110 |#EHI 450 m3
L4
b 1 =K
+rb CE- ERREY L&) ;
e 1 T
BRE LT Y 1,305,030 |HEHHt 350 m3
b 1 =K
T H~ 85
+rb CE - ERREY L&) ;
TR B 1 K
EhdE T = 2, 165, 960
TA7 7 M2 T 2V 2,165,960 | /@ (R EER) 692 m2
RC-40 t=15cm ;
=& (HRIEE) 692 m2
@ FABRLETAI7VHES® (13) t=4cm ;
FEE YR T 2V 356, 418
Y BUE L T 2V 150, 282 | &ilidk i A A 690 m2
TA77 W MEEEIR t=15cm
TE R ALER T = 206, 136 | ¥ iE 1 =
TATTIVhER ;
LSy 28 m3
TA77 Mk (FRHED
R T Y 357, 800
ZEEE T 2V 357,800 | A HFEHEHE 1 =K
RiEFHEERE 1 =X
[ERCE Xy 2V 5,551, 318
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im R # v 1 1, 424, 000
e Rx # = 1 96, 000
BGRESGER (REth) v 1 96, 000
ol # (RE L) v 1 1, 328, 000
Wi TR v 1 6,975, 318
B E R X 1 3, 520, 000
TRl v 1 10, 495, 318
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